

$(4) \quad (-10) - 4$

$(5) \quad (+6) - 14$

$(6) \quad (-12) - 7$

$(7) \quad (-13) - 24$

$(8) \quad (-36) - 83$

$(9) \quad (-15) - 47$

$(10) \quad (-173) - 44$

$(11) \quad (+138) - 297$

$(12) \quad (-492) - 593$

6. 次の計算をなさい。

(25)

$(1) \quad (-20) - 6.2$

$(2) \quad (-17) - 3.9$

$(3) \quad (-4.8) - 9.3$

$(4) \quad (-0.35) - 0.55$

$(5) \quad (+9.14) - 27.3$

$(6) \quad (+3.62) - 52.9$

$(7) \quad \left(-\frac{5}{4}\right) - \frac{3}{4}$

$(8) \quad \left(+\frac{4}{9}\right) - \frac{5}{4}$

$(9) \quad \left(+\frac{15}{8}\right) - \frac{17}{6}$

■ p.7 ■

$$\begin{array}{l} 1 \quad (1) \quad 5 \quad (2) \quad -3 \quad (3) \quad 7 \quad (4) \quad 5 \\ (20) \quad (5) \quad -12 \quad (6) \quad 23 \quad (7) \quad 38 \quad (8) \quad 133 \\ (9) \quad 0 \quad (10) \quad -88 \quad (11) \quad -132 \quad (12) \quad -206 \end{array}$$

$$\begin{array}{l} 2 \quad (1) \quad -6.3 \quad (2) \quad -22.7 \quad (3) \quad 15.6 \\ (21) \quad (4) \quad 0.56 \quad (5) \quad -23.26 \quad (6) \quad 11.06 \end{array}$$

$(7) \quad \left(-\frac{2}{7}\right) + \frac{5}{7} = +\left(\frac{5}{7} - \frac{2}{7}\right) = \frac{3}{7}$

$$\begin{aligned} (8) \quad \left(+\frac{4}{5}\right) + \frac{1}{2} &= \left(+\frac{8}{10}\right) + \frac{5}{10} \\ &= +\left(\frac{8}{10} + \frac{5}{10}\right) = \frac{13}{10} \end{aligned}$$

$$\begin{aligned} (9) \quad \left(-\frac{7}{4}\right) + \frac{13}{6} &= \left(-\frac{21}{12}\right) + \frac{26}{12} \\ &= +\left(\frac{26}{12} - \frac{21}{12}\right) = \frac{5}{12} \end{aligned}$$

$$\begin{array}{l} 3 \quad (1) \quad -5 \quad (2) \quad -5 \quad (3) \quad -8 \quad (4) \quad -4 \\ (22) \quad (5) \quad -20 \quad (6) \quad -16 \quad (7) \quad -27 \quad (8) \quad -17 \\ (9) \quad -57 \quad (10) \quad -43 \quad (11) \quad -152 \quad (12) \quad -98 \end{array}$$

$$\begin{array}{l} 4 \quad (1) \quad -16.8 \quad (2) \quad -42.3 \quad (3) \quad -4.5 \\ (23) \quad (4) \quad -2.11 \quad (5) \quad -20.81 \quad (6) \quad -45.16 \end{array}$$

$(7) \quad \frac{5}{3} - \frac{17}{3} = -\left(\frac{17}{3} - \frac{5}{3}\right) = -\frac{12}{3} = -4$

$(8) \quad \frac{2}{7} - \frac{7}{10} = \frac{20}{70} - \frac{49}{70} = -\left(\frac{49}{70} - \frac{20}{70}\right) = -\frac{29}{70}$

$(9) \quad \frac{5}{24} - \frac{13}{18} = \frac{15}{72} - \frac{52}{72} = -\left(\frac{52}{72} - \frac{15}{72}\right) = -\frac{37}{72}$

$$\begin{array}{l} 5 \quad (1) \quad -10 \quad (2) \quad -13 \quad (3) \quad -11 \quad (4) \quad -14 \\ (24) \quad (5) \quad -8 \quad (6) \quad -19 \quad (7) \quad -37 \quad (8) \quad -119 \\ (9) \quad -62 \quad (10) \quad -217 \quad (11) \quad -159 \end{array}$$

$(12) \quad -1085$

$$\begin{array}{l} 6 \quad (1) \quad -26.2 \quad (2) \quad -20.9 \quad (3) \quad -14.1 \\ (25) \quad (4) \quad -0.9 \quad (5) \quad -18.16 \quad (6) \quad -49.28 \end{array}$$

$(7) \quad \left(-\frac{5}{4}\right) - \frac{3}{4} = -\left(\frac{5}{4} + \frac{3}{4}\right) = -\frac{8}{4} = -2$

$$\begin{aligned} (8) \quad \left(+\frac{4}{9}\right) - \frac{5}{4} &= \left(+\frac{16}{36}\right) - \frac{45}{36} \\ &= -\left(\frac{45}{36} - \frac{16}{36}\right) = -\frac{29}{36} \end{aligned}$$

$$\begin{aligned} (9) \quad \left(+\frac{15}{8}\right) - \frac{17}{6} &= \left(+\frac{45}{24}\right) - \frac{68}{24} \\ &= -\left(\frac{68}{24} - \frac{45}{24}\right) = -\frac{23}{24} \end{aligned}$$